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I E &R Ca-ARS Ca-CPC ] CO> TIBC-Fe TIBC-UIBC Mg PHOS PHOS-S
InE 8141 mmol/L mmol/L mmol/L mmol/L pmol/L umol/L mmol/L mmol/L mmol/L
Mt 75 7% 1 RS 2 mER 1 RS AR E 2 mEES 2 mER 1 RS 1 RS 2 RER
pIREN:SIE) 10 10 10 10 10 10 10 10 10
MFE = 14 11-33 14 7—13 11-33 11-33 10 10 11-33
FHEK(hm) 660 570 505 405 600 600 546 340 340
2l (nm) 750 660 660 505 0 0 750 405 700
EF R1/T1(uL) 240 120 240 240 160 200 240 200 150
R2/T2(uL) 0 120 0 0 32 0 0 0 150
R3/T3(uL) 0 0 0 40 0 0 —
R4/T4(uL) — — — 0 — 0 — — —
HAREES(L) 2.4 4 2.4 2.4 16 20 2.4 4 6
R . FE R IR 3.3 3.3 3.3 -3.3 3.3 3.3 3.3 3.3 3.3
Vel ERI ERR IERRY AR KL ERRZ ERI ERI IERRY [ER[
HIERE -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR
BRAEFE 2 =Lk 2 =M 2 mLkM 2 =M 2 EgM 2 =M 2 =M 2 mLkM 2 =M
K E#k / / / / / / / / /
REERET 3.3 3.3 3.3 3.3 3.3 3.3 3.3 3.3 3.3
BHH#ERET 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 3.3
RYEKRE 0.07 0.05 0.12 -0.15 0 0 0.02 0.05 0
FHKFRE 0.2-0.4 0.05-0.35 0.03-0.12 -3.3-3.3 -3.3~3.3 -3.3~3.3 0.55-1.25 0.15-0.45 -3.3-3.3
14 EE 0.50-5.00 0.40-3.75 80-120 10-50 5-120 5-80 0.10-2.50 0.10-5.00 0.02-5.0
gj.lfiz.ao . mi&: 0.9.~1 62
RS E X8 225~275 | R 96~108 22~29 i 3:23 31“?%’",‘[ S 067~1.04 ?gljz\i?n,?na oa | 097162
2.5~7.5mmol/2 e
4 /By
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I8 &#F TC TG APO A1 APO B CRP HS-CRP ASO B2-MG ADA
InE 8141 mmol/L mmol/L g/L g/L mg/L mg/| IU/mL mg/L u/L
Mt 75 7% 2 mER 2 mER 2 mER 2 RS 2 mEES 2 mER 2 RS 2 RS RE A
pREN:SIE) 10 10 10 10 10 10 10 10 10
MFE = 11-33 11-33 12-33 12-33 19-33 19-33 19-33 19-33 31-36
FHEK(hm) 505 546 340 340 546 660 570 600 546
2l (nm) 660 700 700 700 0 0 0 0 700
EF R1/T1(uL) 160 160 240 240 240 210 192 192 144
R2/T2(uL) 40 40 80 48 60 70 48 48 72
R3/T3(uL) — — — — S - S S
R4/T4(uL) — — — — — S - S S
BARERE(L) 2 2 2.4 24 15 2.8 2.4 Eﬂ%’; Ag_u;% 2 2.4 A
RS IR 3.3 3.3 3.3 3.3 3.3 3.3 3.3 3.3 6.5
Vel ERRZ ERR IERRZ ERRZ ERR ERRZ ERRZ ERRZ ERR
AIHIOE -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR -3.3 TR —
WA * 2 R 2 =& Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p 2 =&
K E#K / / / / / / / / 1763
REERT 3.3 3.3 0.1 0.1 0.1 3.3 0.1 0.1 —
BRERE 0.1 0.1 0.1 0.1 0.1 3.3 0.1 0.1 —
RYEKRE 0.03 0.03 0.1 0.03 0.05 0 0.03 0.04 —
TRAKFRE 0-0.1 0-0.08 -0.2-0.5 -0.5-0.2 -1-1.5 -3.3-3.3 -0.1-1.5 -0.1-1.6 —
Z4SEE 0.10-20 0.30-9.04 0.40~2.00 0.32-1.60 2.0-80 0.1-20 20-800 0.30-21.51 1-200
= q% .
ERBERE <52 i o on | 1.00~160 0.60~1.10 0~6 <50 e (()ﬁkzij?) ’ giizig:j <25
KX . SU.
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bl =i 5-NT ICDH FER TRF CRE-E MALB NAG TPU UA
= )=kiv} u/L u/L ng/mL g/L umol/L mg/L u/L mg/L mmol/L
Wik 75 7% EEA EEA 2 &S 2 RS =t 2 RN EEA 2 &S it
M EYE] 10 10 10 10 10 10 10 10 10
M= 25-31 25-34 20-31 11-33 13-36 13-33 21-34 13-33 13-33
K (hm) 546 340 570 340 546 340 340 505 546
B (nm) 660 405 0 750 700 700 700 0 700
=7 R1/T1(uL) 144 160 140 250 192 160 168 200 160
R2/T2(uL) 72 40 0 0 48 40 56 80 40
R3/T3(uL) — — 70 50 — — — — -
R4/T4(uL) — — S— — — — — —
HAREEE(UL) 4 10 7 2 6 16 11.2 12 3.2
Rt ERIR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
ISIvE it ERR ERRN ERR ERN ERR ER EERR ERRN ERK
s — — — — — — — —
BERZE 2 matt 1 Sk Logit-log5p Logit-log5p 2 |k Logit-log5p 2 |kt Logit-log5p 2 |kt
K E%K 3036 3376 / / / / / / /
REERE —_— 3.3 — S S S —_ S -
BHERE — — — — — — — — —
REERE — — — — — — — — —
SEkTE — — — — — — — — —
s SEE 2-200 0-150 10-1000 0.20-4.80 30-2500 5-400 2-200 40-2000 0.01-15
miE: B
59~104 JLE:
B: 30~300 =t B8 2h R < 0.12-0.33
RS2 <10 <10 13{:1 ésfﬁ”: 2.0~4.0 ?ggggpmol/ 04 <20 0.3~115 ;g;ln?g/?h 924043
#4215 30~300 . 6000~ 150mgL 0.1570.36
13000 umol/24 14.9~44 6

INBS
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T E BFF UREA C3 c4 IgA I9G IgM RF ALT AST
= R=kiv) mmol/L g/L g/L glL g/L glL IU/mL u/L u/L
Mk 77 R 2 RS 2 RS 2 RS 2 RER 2 RS 2 RS RE A EREA
Mz BY 8] 10 10 10 10 10 10 10 10 10
M= 20-23 13-33 13-33 13-33 13-33 13-33 20-31 21-28 21-28
FiF A (nm) 340 340 340 340 700 340 570 340 340
2 (nm) 405 750 750 0 0 0 750 405 405
R R1/T1(uL) 192 225 200 240 240 240 192 160 160
R2/T2(uL) 48 45 40 48 48 48 48 40 40
R3/T3(uL) — — —_— — — — S S S
R4/T4(uL) — — —_ — — — S S S
HARERE(L) 2.4 1.5 2.4 2.4 1.6 2.4 4 10 10
Rt ERPR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
Vet AR ERR ERRZ IERRY ERRZ ERRZ [ERI AR AR R
BT IE -3.3 TR — — — — —_— — — —
RAERE 2 B Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p 2 S 2 =&
K E#¥% / / / / / / / / /
REERE — — — —_ —_ — — S —
BHERSE — — — —_ — e — — —
RYENE — — — — — — — — —
THKFRE — — — — — — — — —
ZEEE 0.2-35.7 0.20-4.00 0.05-1.00 0.30-6.00 0.3-40.0 0.20-3.00 3-160 4-1000 3-1000
IRRZE X8 2.82~8.2 0.8~1.85 0.10~0.40 0.72~4.2 7.0~16.0 0.4~2.3 0~30 iri ::gg 8-40
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I B & GGT CHE B DB TBIL DBIL TB-V DB-V TBA
= ==Ei) u/L u/L pmol/L umol/L pmol/L umol/L umol/L pmol/L umol/L
Mk 77 RE A EREA 1 m&E 1 mES 2 AR 2 MRS 2 mRS 2 RS PR RIRE
Mz BY 8] 10 10 10 10 10 10 10 10 10
M= 21-28 21-25 33 34 16-33 16-33 16-33 16-33 23-30
F R (nm) 405 405 570 570 546 546 450 450 405
Bl (nm) 505 505 660 660 700 700 546 546 505
R R1/T1(uL) 160 160 0 0 200 200 252 252 216
R2/T2(uL) 40 40 200 200 50 50 63 63 72
R3/T3(uL) — — — — — — — — S
R4/T4(uL) — — — S — S S — S
HAREEE (L) 20 2 20 20 5 10 9 9 3.2
Rt ERPR 6.5 6.5 6.5 6.5 — —_— 6.5 6.5 6.6
Vet ERR ERKN ERR [ERR ERR [ERR AR AR ERR
BT IE — — — —_ — — — — —
BAEFE 2 mLkM 2 =Lk 2 =M 2 =Lk 2 =M 2 =Lk 2 mkM 2 =M 2 mLk
K E#¥% / / / / / / / / /
REENE — — — —_ — —_ — — —
BHERSE — — — — — —_ — — —
RYENE — — — —_ — — — — —
FTEKFERE — — — —_ — — — — —
ZEEE 0-450 50-15000 1.7-300 1.7-300 2-684 3-342 0.0-684.0 0.0-342.0 1-180
RS X i& 8:28 5000-12000 %’j’;’h 12'(7):2(1)0 17-6.8 3.42-20.5 0-6.84 1.7-21 0-6.8 1-12
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T E BFF GLDH LAP P ALB PA al-MG CYS-C RBP NGAL
= ==Ei) u/L u/L g/L g/L mg/dL mg/L mg/L mg/L ng/mL
Mk 77 RE A EEA 1 m&E 1 RER 2 RER 2 RS 2 RS 2 RS 2 RS
Mz BY 8] 10 10 10 10 10 10 10 10 10
A= 23-29 23-30 19 19 13-33 20-33 22-33 20-33 20-33
FiF A (nm) 340 405 546 600 340 600 660 600 570
B (nm) 405 505 700 700 750 0 0 0 0
X3 R1/T1(uL) 160 160 250 225 200 240 150 210 240
R2/T2(uL) 40 40 0 — 40 60 50 70 80
R3/T3(uL) — — — — — — — — —
R4/T4(uL) — — — — — — — — —
HAREES(UL) 10 10 5 15 2.4 2 3 2 2.4
RSB R IR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
Vet ARz ERR ERRZ IERRZ ERRZ IERRZ ERR ERRZ ERR
BIHIRE — — — R — - - - -
RAERE 2 R&M (B=t57 2 meR 2 R Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p
K E%k / 2121 / / / / / / /
REERE — — — — — - - - -
BHEKRE — — — — — - - - -
THKTFKRE — — — — — - - - -
S EE 3-100 5-150 5.0-150 2.0-60 11-56 2-100 0.00-1.16 0.5-140.0 50~5000
RS E X 0-10 0-40 60-83 37-53 20-40 %’E 1990 0.4~8.0 22 ~70 g; gy
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T E BFF Lp(a) APOA I APOC I APO E a2-MG AAG AAT CccP PCT
B =]=2Ki) mg/L mg/dL mg/dL mg/L mg/L g/L g/L U/ml ng/mL
Mk 77 2 RS 2 mER 2 |\ 2 mER 2 mER 2 mER 2 mER 2 |\ 2 mER
Mz BY 8] 10 10 10 10 10 10 10 10 10
A= 21-33 11-33 11-33 11-33 11-33 11-33 11-33 11-33 20-33
FiF A (nm) 600 600 340 340 340 340 340 546 600
B (nm) 0 0 0 0 0 / / 750 0
X3 R1/T1(uL) 153 240 240 210 200 240 225 180 180
R2/T2(uL) 51 80 80 70 40 60 75 60 60
R3/T3(uL) — — — — — — — S— S—
R4/T4(uL) — — — — — — — S S—
BARIEEE(UL) 1.8 4 6.4 3.0 30 2 2 6 15
RSB R IR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
RRZFEE ERN ER ERN [ER I ERIN IERRZ ERR ERRZ ERRZ
BIHIRE - - - - - - - - -
RAERE Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p Logit-log5p 2 meR Logit-log5p
K E%k / / / / / / / / /
REERE - - - - - - - - -
BHEKRE - - - - - - - - -
THKTFKRE - - - - - - - - -
54kl 30-1000 3~60 0.2~10 2~100 2~90 0.2-4 0.5~6.0 5-100 0.2-60
IRRSZ X8 <300 25-35 1.6-4.2 29-53 0-4 0.5~1.2 0.9-2 <35 <0.5
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T E BFF SAA Mb H-FABP HP AFU CG GPDA MAO mAST
= R=kiv) mg/L ng/mL ng/ml g/L U/L pg/mL U/L U/L u/L
Mk 77 2 RS 2 mER 2 |\ 2 mER EREA REA REA RE A EREA
Mz BY 8] 10 10 10 10 10 10 10 10 10
A= 20-33 20-33 21-31 11-33 10-17 23-33 24-33 14-21 22-29
FiF A (nm) 546 570 700 340 405 340 405 340 340
B (nm) / 0 / / / 0 / / 405
X3 R1/T1(uL) 150 180 100 225 250 200 192 200 200
R2/T2(uL) 30 60 100 75 — 50 48 — 50
R3/T3(uL) — — — — — — — — —
R4/T4(uL) — — — — — — — — —
BARIEEE(UL) 2 6 4 2 25 12 13 20 15
RSB R IR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 -6.5 6.5
RRZFEE ERN ER ERN [ER I ERRZ IERRZ ERR AR AR
A - - - - / / / / /
B E Logit-log5p Logit-log5p Logit-log5p Logit-log5p 2 S5k Logit-log5p 2 Ak 2 R4 2 Ak
K E%k / / / / / / / / /
REERE - - - - / / / / /
BHEKRE - - - - / / / / /
RYPENE - - - - / / / / /
THKFRE - - - - / / / / /
S EE 5~240 10-800 2.5-160 0.2~5.0 5~80 2.5~50 10-400 5~100 5~130
GRS ZX 8 <10 <70 <5 0.3-2 <40 <27 44-116 <11 <15
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T E BFF FFA B-HB GA IMA LDH1 Cu Na AMY LPS
= ==Ei) mmol/L mmol/L g/L U/mL u/L umol/L mmol/L U/L u/L
Mk 77 2 RS 2 mER 2 |\ 2 mER EREA 2 mER IR RE A EREA
Mz BY 8] 10 10 10 10 10 10 10 10 10
M= 11-33 11-33 11-33 11-33 22-29 11-33 22-29 22-26 22-29
FiF A (nm) 546 505 546 505 340 600 405 405 570
2 (nm) 0 / / / 405 / — 505 0
R R1/T1(uL) 240 225 240 225 200 150 180 160 225
R2/T2(uL) 60 75 60 75 100 50 60 40 75
R3/T3(uL) — — —_— - - — — S S
R4/T4(uL) — — — - - — — S —
HARERE(L) 4 6 5 30 15 10 8 5 3
Rt ERPR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
Ve St ERRZ ERR ERRZ ERMN ERR E&RZ ERR ERRZ ERR
AR — / / / / / / / /
BOET 2 mLkM 2 =Lk 2 =M 2 =Lk 2 RN 2 R 2 R 2 R 2 R
K E#¥% / / / / / / / / /
REERE — / / / / / / / /
BHERSE — / / / / / / / /
RYENE — / / / / / / / /
FTHKFRE — / / / / / / / /
ZEEE 0.1~3 0.02~4.5 3.5~80 3~120 10-1000 5~79 80~180 5-1500 3-300
BaER/a
RS ERE i 8:1:8:25; =0.28 %EA/ALB) : =78.0 17~96 i 1;j§f‘2;4.4 136~ 146 %mf << 1222000 13~60
11~16%.
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I E & PAMY PL SOD GLU(HK) GLU (OX) HbA1C HbA1C-S HDL-C Fe Zn
E ${u u/iL mmol/L U/mL mmol/L mmol/L % % mmol/L pmol/L ug/dL
Mt 75 7% RE A 2 BARSR 2 RS It PR 2 mER 2 RS 2 mER 2 mER 2 RER
M3zt B 8] 10 10 10 10 10 10 10 10 10 10
MFE = 24-33 11-33 11-33 11-33 13-33 21-31 21-31 11-33 11-33 11-33
F KK (nm) 405 600 405 340 505 660 660 546 600 570
B (nm) 505 / 0 405 660 0 0 660 0 700
EF R1/T1(uL) 160 200 150 240 240 240 150 240 200 200
R2/T2(uL) 40 50 50 60 60 80 50 80 40 50
R3/T3(uL) — —_ 0 — — — S S S S
R4/T4(uL) — —_ 0 — — — — S — —
HARESS(L) 5 2 10 2 3 6.4 6 3.2 20 12
I ERR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
RE7ZER ERMN ERR ERR ERRN ERR ERR ERR ERR ERR ERR
HIERE / / / — -3.3 TR — — -3.3 TR — —
BRAEFE 2 =M 2 =M 2 mLkM 2 =M 2 mEM =SS =S 2 =M 2 EgM 2 =M
K E#K / / / / / / / / / /
REERE / / / — S — S S — S
BHENRE / / / S — — — — S S
RYENE / / / — — — S S S— S
FTHKFRE / / / — — — S S S— S
S EE 0-1500 0.1-12.9 10~250 0.5-40 0.5-30 2.00~14.00 | 2.00%-14.00 0.10-3.80 5-120 5-500
A o - 8B 726~
g[é;%/ﬁuﬁﬁ 8- &u%g’%g ﬁégﬁé ;%0%4 73 B 9~32 ;3.76'5\:1 1§4:5,
IEFRE % Xa] BN 1.9-3.2 110-215 3.9:6_3.1 3.9;{3.1 3.8~5.8 3.8%~5.8% izri ' ;z'ré: S a0 | JLE: 641~
<370 FR&: FR&: 1 26-1.89 109.9, #&E
0.28~0.83 0.28~0.83 JL: 49.7~
100.1
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B BFF LAC ALP CK CK-MB cTnl HBDH HCY LDH LDL-C FMN
= [==K{] mmol/L u/L UL u/L ng/mL u/L pumol/L u/L mmol/L mmol/L
Mk 77 2 mER RE A WREA RE A 2 mERS WE A PR s REA 2 RS A RIRE
MzBY 8] 10 10 10 10 10 10 10 10 10 10
M 11-33 22-28 25-29 28-35 20-33 22-28 28-33 20-24 11-33 16-31
FiF K (nm) 546 405 340 340 505 340 340 340 546 546
2 (nm) 660 505 405 405 0 405 405 405 660 660
®F R1/T1(uL) 240 200 200 200 180 240 240 240 240 240
R2/T2(uL) 60 50 50 50 60 60 65 60 80 0
R3/T3(uL) — — — — — — — S S— S
R4/T4(uL) — — — — — — — — S S
HARIEEE(UL) 3 4 5 10 25 6 13 5 3.2 12
R SRR 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
Ve St ERRL ERRZ ERR ERRZ ERMN =3 AR ERRL ERR ERRZ
AT —_— -3.3 TR — e — — — — — —_—
BRAEFE 2 | 2 MLkt 2 e 1 R Logit-log5p 2 |k 2 MM 2 |k 2 meM 2 maM
K E¥ / / / 8360 / / / / / /
REENE — — — —_— — — — — — —
BHEKRE — — — — — — —_ — — —_
RYENE — — — — — — — — — S
THKTFKRE — — — e e — — — — —
S EE 0.1-13.3 25-1200 25-2000 5.00-500 1-25 15-1000 3.0-50.0 25-800 0.20-11.60 0.80-6.00
Bigi1~12 %
<500,
m3: 0.5~2.2 %535 ¥ < S 38-174
I&REE X8 ﬁ&fz{&' 4: 5351 5%, o 26~140 <24 0~1.68 72~182 <15 109~245 310 IR 1.40~2.15
o T 1~12 %
<500, >15
% 40~150
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